Events/ (2 GeV/c)

Data

pPb 173.4 nb™ Sy = 8.16 TeV pPb 173.4 nb™ ISy = 8.16 TeV

Fit

N B B B LA B e e e R
C - __ - . . ]
350 pt> 25 Gevic 9~ 300 p¥>25Gevic =
o u . o C u 1
300f- -0.20 < %, <0.00 ¢ Data 3 S sol 180 < ng <193 ¢ Data E
- 1 o Tk ’ 00cp
250F— 4 O - aQ ]
: 1 o 200 —
200— — ~ C .
r 1 T 1sof =
150 3 a - .
o ] c C ]
= 3 O 100 -
100(— - > C ]
u 7 uw - ]
50— 3 50— 3
o, 8l I i
0 : - 0
2F xeindof = 47/38# 8o 2F xzndof ﬁzlsia
1?‘+‘ - ot ea- AARAEE - 2 ac Ta s o *‘*# ] 8 LL 1»*"“{ E= - g ettt +3
010 20 30__ 40 60 70 80 0% To 20 30__ 40 60 70 so

pg‘iss (GeV/c) p?iss (GeV/c)



